


Question 1

Without using a calculator, work out % - 2l
Show all the steps of your working and give your answer as a fraction in its simplest form. [2]
g .L 3 5 _ 3_ . 2 i
- " 92 * 3 T & G & >
6
Question 2
Work out %- ﬁ giving your answer as a fraction in its lowest terms.
Do not use a calculator and show all the steps of your working. (2]
8 S
= x— 4 3 w \ (U}
S 4
Question 3
: ; 3,2_1
Without using your calculator, work out 4 + 37 ]
You must show all your working and give your answer as a mixed number in its simplest form. [4]

Qx6 27(8_!7‘5, l€+te-5=§—|-(i

-1 = = .= = ' a
47‘6{- Y o7 ay 24 - o

Question 4

Without using a calculator, work out 3 l.
5 6 2]
Write down all the steps of your working and give your answer as a fraction in its simplest form.
X b X 23
3 1%5 € + S . ==

Sne' 6x5 " 35 80 80
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Question 5
o) 9 X3

8 7°
Show all your working and give your answer as a mixed number in its lowest terms.

’{I_S)(é- ?ia\é‘
¥ F ¥

Without using a calculator, work out

Question 6

Without using a calculator, work out 11—2X | !5—

Show all your working and give your answer as a fraction in its lowest terms. [2]

_L-acf—l'—'*'a;

}Z_l S

Question 7

13

Without using your calculator, work out 11—72+ 5

You must show all your working and give your answer as a mixed number in its simplest form.

qu5+ st = as < ‘%j- = 134 :61 = l}-
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Question 8

1 11
Without using your calculator, work out 27, = 5.

[3]

You must show all your working and give your answer as a fraction in its lowest terms.

Q* o w4 16 4L

———

A% 3 2 2~ (2 23 S
Question 9
Calculate 2.07- 289 [1]
5.71 - 3.92
0. lg§xoo _ €
(- 9 x wo 119
Question 10

Write the following as single fractions.

@+ [1]
8%
2
(b)x+%\, [1]
2
2% +2
2¢
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Question 11

Work out 2+ 1- l—, giving your answer as a fraction in its lowest terms.
4

3 6 3]

Do not use a calculator and show all the steps of your working.

EA-(-J:(‘L ..-L’C?":._g_—(-a~'-3

dxn 6%R2 4x3 12 \2 \2 \2

Question 12

Without using a calculator, work out 1 % —% :

Show all your working and give your answer as a fraction in its lowest terms.

q .8 . X% .2 a2

’5"?{ 5 2 S S

Question 13

4 5]

Without using a calculator, work out P 2 3

Write down all the steps of your working and give your answer as a fraction in its simplest form.

4 .5 AL .3

— —
- — X =

5 " 8~ 5 X (o

[3]
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Question 1

S]]

Without using a calculator, work out 12+ 3

Show all your working and give your answer as a fraction in its lowest terms.

15 .5 _ 81 - 2—{23%
g€ "a <€ s; 3

Question 2

Without using your calculator, work out 2% - (l,

(4]
Give your answer as a fraction in its lowest terms.
You must show each step of your working.

85 .5 . 25 £ b .31
qQ ~ 6 Az X, S 3
Question 3
. . 1,1,
Without using a calculator, work out 7+ 6
Write down all the steps in your working and give your answer as a fraction in its simplest form. [2]
y R
Ax e 6x2 L ¢ 2
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Question 4

Without using a calculator, work out lé— % (3]
Show all your working and give your answer as a fraction in its lowest terms.
t .3, Z'f*-i
& ' 3 F1o2
Question 5
Without using your calculator, work out % = (L: x 1{7)
Write down all the steps of your working. [3]
5 2)- & X2 33 0 _9q _ !t
- ( —  — S
Question 6
Without using a calculator, work out l:— — :7
(3]
Write down all the steps in your working,.
1 4 As _ %% _ (%
— T .- %6 26 26
4xq Ary
Question /
: f L. o
Show that 516 —°
(2]

Do not use a calculator and show dll the steps of your working.

3 .3 Ao

2 e K \&
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Question 8

Do not use a calculator in this question and show all the steps of your working.

Give each answer as a fraction in its lowest terms.

Work out.
3 1
@ 77 17 2]
22 L .3 _L %2
Axy \2Z w12 a3
(b) 25%5 2]
2 2
™ 28 S
’ S
Question 9
Without using a calculator, work out g = 123.
Write down all the steps in your working. [3]
— - 3 - —_
3 I S o 0)
Question 10
Write down all your working to show that the following statement is correct. [2]
l+g 34
2+L 45
2
1%
<€ - L+ o \F = 1 .2 B4
A 2 0 9
2. L =2l 25 Z .
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Question 11

2

1 2
Show that (_ + =] =0.17.
10 B
(2]
Write down all the steps in your working.
J\ -+ a = 0.0) ¢« 0‘|G~°,(q
loo ls
Question 12
Without using your calculator, work out 1 27
6 10
[3]

You must show your working and give your answer as a mixed number in its simplest form.

XS 93 55 4 2% . T2 A

67(5 Ox3 30 26 30 S

<21
IS

Question 13

Work out the value of p.

Show all your working.
sxe pALE, R A 3 8B 9
2)(@ bxq 4&5 \2 (2 (2 (X 2

p= 25
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Question 1

Without using your calculator, work out the following
Show all the steps of your working and give each answer as a fraction in its simplest form

2]

11 |
(@ — - -
12 3

2
[2]

Question 2
(3]

Write down all the working to show that

3"3_(_ 3.’(5 -a(_ + (S o .'ﬂ-
57(3 3);<5 1S )

/,3”;(_“: 3\
S W& o

|
7. 4 _
N

—_— 3
Z a e

Question 3
. i 1 1 1 43
Jiwan incorrectly wrote 1+ = + 2 + 2 =12, [3]
2 3 4 9

Show the correct working and write down the answer as a mixed number
X1 X6 X‘\ X3 _ I}
‘ 2 ,L f]'- < &n(-:q,‘f-'\t_——zggg_-'\
‘,“2 Z,ge 37w 4x3 w. 2 12 | (2 (2
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Question 4

5 5 I8
Show that 3 +2 = —
36

Write down all the steps of your working.

T N RSP N

(2]

5 ¢ TWxq 4xq 3¢ 3 3¢
Question 5
Show that 1§+1Z= 7_
9 9

(2]

Write down all the steps in your working.

z
ﬁ—'&: W?(q/.,:%

-

S . 9 \ X %8?-%‘

Question 6
. 18 _27
(a) Find the value of x when a—; [1]
el S i
T e
12
J = 86

1 4

(b) Show that — =1~ .

3 6 7

Write down all the steps in your working.

25—31:2\7(’52?
37 6,37 % ﬂj

(2]
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Question 7

Show that l + IZ= 2L.
27 9 27 (2]

Write down all the steps in your working.
T 63 _ 1  4¢ _ 55
FEA = gt g 'ZL
* X 3 2t 3 s

Question 8
(1]

Write down the number which is 3.6 less than — 4.7 .

-4.3-3%6= - 3.5

Question 9

3 I 1
Showthat 3—+ | — =5 . [2]

4 3 12
Write down all the steps in your working.

xt  4xA 4 \ ¢
L R e T R

Ax) 3)(4 12 12 (2
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Question 10
3a 4
Write as a single fraction Y + o

30_"(5 ﬂ_’K{' - (Sa 32 -

—_— &
“Jo

—_?;<5+ S5XF \

Question 11

W o
%)

(a)

N

Find the value of x.

2?<°1+ 457(,9 - sﬁ 10
2% Yy QX:) I 2

[1]

o 3
(b) 2,39,
3 Ay
(1]
Find the value of y.
3 3 °I 9
Yedd
Question 12
Work out the value of 13 2]
51+3§‘ ~F . (-
Y g T S G g
‘ZJ(L( 8 8 8 & :__g_ X (,_9) i
-7 3 A 3 1
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Question 1

2 11
Without using a calculator, work out 13 BETL

Write down all the steps of your working and give your answer as a fraction in its lowest terms. [3]
ks B (1 (S s
Question 2
(a) Write 13—1 as a mixed number. [1]
PR
3
(b) Without using a calculator, work out zl;+ 1-52 :
Show all the steps of your working and give your answer as a fraction in its lowest terms. [2]
x5
A + S =._~3 -?..s—:-i LY
Axy 2 w2 w2~ 3
Question 3
Without using a calculator, work out 1 %+ % [3]

Write down all the steps of your working and give your answer as a mixed number in its simplest form.

53—"1'(' gsa -3—5-(-‘—5—:: ?ﬁ._: 2..?_
A1 Fxs 2\ l 2 2
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Question 4

Without using your calculator, work out % - (% - %)

You must show all your working and give your answer as a fraction in its simplest form.

23 axy S € L

- e

Dxy Bxq T T2 e

W _ 1l .. s
2 - (- &

Question 5

il
2

Without using your calculator, work out 3 %

You must show all your working and give your answer as a mixed number in its simplest form.

2
_"_D_.'_i a&xiai:,f!\
3 X 3 )7/ 3 3

Question 6
6

Without using a calculator, work out 7

2
|3.

Show all your working and give your answer as a fraction in its lowest terms.

é—"‘ii-‘é-x‘é_zﬁ
* > 4+ s %
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Question 7

343

. . 49) 2 64
Without using a calculator, show that (l—] ’
6

[2]

Write down all the steps in your working.

3
ACR )% - (‘i}& ( _‘_‘_)g o4
aq 32/ S\ &7 34

Question 8

c-d 3]

Write ¢ as a single fraction in its simplest form.

]
; - cd
.lf&—(- (xc cd _ 4 L L c-\cl,e dec ~cxd
Cxd  dxe ed cd  od cd ¢el

2d

I
c

. o2d s
&'- C
Question 9
Work out the value of 1+ ” 2 i 2]
5+6
_ﬂ_ ~ 4 B‘Fi: .3_'3-+i4 -3—£
Seo M W \ « I
2 3F _ ax M - 22 /-(—."52—:.3_7.\ 22 . &
ail S al* Bl ad T 32557 2
s | 22
Question 10 =
2
4?0_3—0521—7 Find c. 2
ol_\g__x'v‘_.%_c,_a.?i'-._'-”_c-:i_sC:Sc ,;&
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